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Section A

1. Find the equation of the straight line passing through 

and cutting off equal intercepts on the coordinate axes.

Watch Video Solution

( − 4, 5)

2. Find the value of a it the area of the triangle formed by the liners

x=0,y=0,3x+4y=a is 6 sq units.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gdruB3qKj05s
https://dl.doubtnut.com/l/_pgBGlNN9BHqW


Watch Video Solution

3. Show that the points (1,2,3), (2,3,1) and (3,1,2) form an equilateral

triangle.

Watch Video Solution

4. Find the equation of the plane passing through the point (1,1,1)

and parallel to the plane 

Watch Video Solution

x + 2y + 3z − 7 = 0

5. Compute 

Watch Video Solution

Ltx→ 0 , b ≠ 0, a ≠ b
sinax

sin bx

https://dl.doubtnut.com/l/_pgBGlNN9BHqW
https://dl.doubtnut.com/l/_dSRf8EdYGakH
https://dl.doubtnut.com/l/_z6QlVCzh4RkW
https://dl.doubtnut.com/l/_7XGIsWL95xjH


6. Evaluate 

Watch Video Solution

 Lt

x → ∞

11x3 − 3x + 4

13x3 − 5x2 − 7

7. Find the derivative of .

Watch Video Solution

y = esin − 1x

8. Find the derivative of 

Watch Video Solution

tan− 1 √ .
1 − cos x

1 + cos x

9. Find the approximate value of 

Watch Video Solution

3√65

https://dl.doubtnut.com/l/_KKiZ5NoaPHMM
https://dl.doubtnut.com/l/_qPoP2B8unTG2
https://dl.doubtnut.com/l/_6aIjGW3sdwXp
https://dl.doubtnut.com/l/_ZFPhmmaHMcLa
https://dl.doubtnut.com/l/_0mlvlwIkHCp7


Section B

10. Verify Rolle's theorem for the function sinx-sin2x on 

Watch Video Solution

[0, π]

1. Find the equation of locus of a point such that the difference of

whose distances from (-5,0) and (5,0) is 8

Watch Video Solution

2. Find the transformed equation of 

 when the origin is shifted to the point (-1,

2)

Watch Video Solution

2x2 + y2 − 4x + 4y = 0

https://dl.doubtnut.com/l/_0mlvlwIkHCp7
https://dl.doubtnut.com/l/_5aEA17b4L6yM
https://dl.doubtnut.com/l/_aNxbpfdhtl2m


3. Find the equation of the straight line passing through A(-1,3) and

(i) parallel (ii) perpendicular to the straight line passing through

B(2,-5),C(4,6)

Watch Video Solution

4. If f is given by  is a continuous

function on R, then find k .

Watch Video Solution

f(x) = {
k2x − k if x ≥ 1

2 if x < 1

5. Find the derivative of  from the first Principle.

Watch Video Solution

cos ax

https://dl.doubtnut.com/l/_zPDncOri5IS0
https://dl.doubtnut.com/l/_VkzN6JEi8AMr
https://dl.doubtnut.com/l/_NNc64w2gEotH


Section C

6. The volume of a cube is increasing at a rate of 9 cubie centimeters

per second. How fast is the surface area increasing when the length

of edge is 10 cms?

Watch Video Solution

7. Find the length of subtangent subnormal at a pont t on the curve

Watch Video Solution

x = a(cos t + sin t)y = a(sin t − t cos t)

1. Find the orthocentre of the triagle whose vertices are

.

Watch Video Solution

( − 2, − 1)(6, − 1), (2, 5)

https://dl.doubtnut.com/l/_r1hGtQgRZ2G3
https://dl.doubtnut.com/l/_YT4WGTJY7Bfx
https://dl.doubtnut.com/l/_sbwjxmDSrqvN


2. S.T the equation 

represents a pair of straight lines. Also find the angle between them

and the coordinates of the point of intersection of the lines.

Watch Video Solution

2x2 − 13xy − 7y2 + x + 23y − 6 = 0

3. Show that the lines joining the origin to the points of intersection

of the curve  and the straight line 

are mutually perpendicular .

Watch Video Solution

x2 + xy + y2 + 3x + 3y − 2 = 0

x − y − √2 = 0

4. Show that the lines whose direction cosines are given by

, 


 are perpendicular to each other .

Watch Video Solution

l + m + n = 0

2mn + 3nl − 5lm = 0

https://dl.doubtnut.com/l/_sbwjxmDSrqvN
https://dl.doubtnut.com/l/_AY1qWRfBpMYV
https://dl.doubtnut.com/l/_7R4Tif6sNAXT
https://dl.doubtnut.com/l/_FDf2QjIvW5YD


Watch Video Solution

5. If

then show that 

Watch Video Solution

y = tan− 1( ) + tan− 1( ) − tan− 1( ),
2x

1 − x2

3x − x3

1 − 3x2

4x − 4x3

1 − 6x + x4

= .
dy

dx

1

1 + x2

6. S.T the curves  touch each

other at .

Watch Video Solution

6x2 − 5x + 2y = 0, 4x2 + 8y2 = 3

( , )
1

2

1

2

7. Find two positive numbers whose sum is 15 so that the sum of

their squares is minimum.

Watch Video Solution

https://dl.doubtnut.com/l/_FDf2QjIvW5YD
https://dl.doubtnut.com/l/_TbutqdK5Eycm
https://dl.doubtnut.com/l/_gUVqJI1bdMlt
https://dl.doubtnut.com/l/_V75NoQvSASpm



